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Abstract: This paper sets up an unascertained measure m odel of synthetical evaluating on atm osphere environ-
mental qualities, and applys it to evaluate the atm osphere environmental qualities of a certain steel plant. This
model is supposed to be strict in theory. The measure function is meticulously constructed. According to se-
quence in dividing the evaluating space, the rule of the incredible recognition is introduced. The evaluating result
is reasonable. It is the practical m odel for synthetical evaluating on atm osphere environmental qualities.
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